g ﬂ @ é Exposants négatifs de 10

Nom: Date: Note:
561,3+ 1007 = 2% 10=
805,8 x 1002 = 573,910 =
107 = 181,9 x 1003 =
1001 = 256,8+ 100" =
6x10° = % 100Y =
1072 = 268,9 x 100 =
428,5x 107 = 3% 1002 =
1079 = 619,2+ 1072 =
331070 = 1% 10=
5x 1002 = 4% 107 =
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g ﬁ é Exposants négatifs de 10

Nom: Date: Note: __
561,3 + 1072 = 561300 2% 10=-20
805, 8 x 1072 = 8.058 573,9+ 107 = 573900
107 = 0.001 181,9 x 107 = 0.1819
1079 = 0.1 256,8 + 107 = 2568
6 x 10*> = 600 —2 % 107 = —0.0002
107% = 0.01 268,9 x 10 = 0.2689
428,5 x 107% = 0.04285 -3 %107 =-0.03
107 = 0.001 619,2+ 107 = 61920
3x 1070 =03 ~-1x10=-10
5% 1072 =0.05 4 % 10% = 400
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